Paper / Subject Code: 19911 / Economics - Industrial Economics

Time: 2:00 hrs.

Note: 1. All questions are compulsory.
2. All questions carry equal marks.

3. Draw neat diagrams wherever necessary.

Q.1. Answer Any Two of the following.
a) What are the determinants of firm structure?
b) Discuss the sources of economies of scale.

c) Explain the concepts of Nash Equilibrium.

Q.2. Answer Any Two of the following.
a) Explain Dorfman-Steiner theorem of optimal advertising.
b) Describe the process of Innovation.

c) Elaborate the term ‘Concentration Ratio’.

Q.3. Answer Any Two of the following.

a) Explain the meaning and importance of income statement.

b) What are the five steps in the capital budgeting process?
c) Elaborate Modigliani-Miller Theorem.

Q.4. Answer Any Two of the following.
a) Describe the trends in industrial growth in India.
b) What are the policy issues of small-scale industries?
c) Explain Competition Act, 2002.
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